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I Continued discussion re: role of ©1a1VaR in payment for Ppm
a R DIMVIAR pay from 2vn but do not pay 1912 (if M kills a person)
i Analysis: seems to follow opinion that 1913 = 1793 (for owner of animal that killed)
ii ~ Suggestion: perhaps it is only 2”27 Y® 12 YRYnW> "1 who holds that position, since he reads v. 1 as p’m 7
iii  Rejection: even 1327 agree that 1912= 0193, but say, based on vv. 1-2, that we valuate based on pm
1 Tangential story: X271 praised 2pY»’ 72 RNR " to 1", when he came to visit 1", he asked him:
(a) How do partners (that co-own an ox that killed) pay 19157
(i) Cannot be: 191 for each, as there is only one 1913 to be paid
(if) Cannot be: V21913 for each, as each person requires atonement
(b) While thinking about it, he asked him whether the 7”2 seizes moneys of 1913
(i) Isit: akin to mnwR (that are so severe, we assume he’ll pay and don’t seize)
(if) Or, is it: significantly distinct insofar as he’s paying a fellow (not ma») and akin to 127 (1315wnn)
(iii) Alternatively: is it significantly distinct insofar as he did nothing; his property did ...p1wann?
(¢) 11 didn’t answer the latter, as he was still working on the former question
b xn»a: role of 1MW in paying %2 damages/full damages
i if: Aborrowed an ox under assumption of him being a on and he proves to be 71 (and damages)
1 ruling: owner pays %2 damages, YR pays %2 damages
2 challenge: 9w can claim that he didn’t borrow a “lion” (with requirements to guard it etc.)
3 answer: case is where he recognized that it was violent (just didn’t know that it had done so 3 times)
(a) challenge: 1w can claim that he borrowed a on (less restraints needed), not a Tyn
(b) answer: owner can counter that, in any case, he would have to pay %2 damages (if, as on, it attacked)
(i) challenge: SR can claim that, if it were a on, it’d be paid 1911 (no loss to 1mv)
(if) answer: owner can counter that, in any case, the 1mw would have to return an ox (so he’d lose anyway)
1. challenge: 9mW can claim that, had it been on, he could’ve admitted to it and been exempted (v1p 1"n)
a. note: even the position of a1 3”n — MW could’ve hid the animal and evaded payment
2. answer: case where 771 had already seized the animal
3. challenge: if so, why does owner pay %2? He can claim that YR has given it to a non-litigant?
a.  Answer: 1mw counters that in any case, he’d have to pay n»9yn n
i.  Note: this is only meaningful if the owner has other assets
ii.  Block: even if he doesn’t, the 1w would pay directly, as per 117 RT12YW (v. 3)
ii  if it became 7Y while in possession of YR and he returned it (and it attacked)
1 ruling: owners pay %2 and YR is exempt
2 note: in this clause, we rule mwn mw1 — but not in the first clause?
(a) Answerl (pny ~): it is split
(b) Answer2 (727): 1%t clause is mwn NPR MWYY, so too 2" clause — reason: borrower has no rights of nxTYN
(c) Answer3 (x99 77): 27 clause is NwN MW7, so too, 1% clause — reason: wherever it goes, bears name of owner
II  End of 1 mwn: a “toro” is exempt from being killed, as per v. 3 (only if he gores on his own, not if he’s trained to do so)
a  Question was asked: can such an ox be brought as a j27p?
i 37 permissible — since it is DR (supporting Xn»92)
ii ~ Swmww forbidden - it was used for a sin
iii  challenge: xn>1 (from 5"n) that reads v. 4 as invalidating categories of animals from narn:
1w explains need for mentioning both na and Y211 — because each has qualifications not shared by other
(a) yam: onR is no exemption, unlike na (2 doesn’t this support 11?; no, stated vis-a-vis execution)
(b) maa: pays 1912 (but not yan)
(i) scenario 1 (»238): there was ny»11 and she was killed in 7”2 on account of the animal
(if) scenario 2 (¥27): the animal killed via ny>27 — no 1913 because there was no intent to harm (just ymxy nxin)
1. application of dispute: 31 that kills a baby — only according to »ar is 1913 paid
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